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Challenge 1

Can you work out the volues of each shape?
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Challenge 2

Tom hos six 10p coins and three 5p coins. He buys an apple for 59p and two
pencits.

He hos no money left. How much does  pencil cost?
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Challenge 2 -

Tom hos six 10p coins and three 5p coins. He buys an apple for 59p and two
pencits.

He hos no money left. How much does  pencil cost?
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Challenge 3

Here are some digit cards.

Amir and Donna each make a three-digit number using all the cards.

Amir notices that when he subtracts his number from Donna's number he gets.
on answer greater thon 300 but less than 400.

What numbers did they make?





